
[bookmark: _GoBack]The Encounter and Procedure, Performed: Delivery Procedure start at the same time. Should this pass if the relative timing is ‘starts during’?

[image: cid:image003.png@01CF9AA5.24338030]
image1.png
encounter: Performed: Encounter Inpatient

O START @ sTOP
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[] UNDEFINED
</>CODES

SNOMED-CT: 8715000

Code Set - -

[ul VALUE

@ Scalar  ~

[ul FIELD VALUE

@ Scalar  ~

[] NOT PERFORMED

11:59 AM

INITIAL PATIENT POPULATION: v

procedure: Performed: Delivery Procedures

O START @ sTOP
07/08/2012 11:59 AM 07/08/2012
[] UNDEFINED

11:59 AM

« AND: + Patient Characteristic Birthdate:
birth date >= 8 years starts before start of
"Measurement Period"
« AND: + Patient Characteristic Birthdate:
birth date < 65 years starts before start of
"Measurement Period"
« AND: ¥ Occurrence A: Encounter,
Performed: Encounter Inpatient ends during
"Measurement Period"
« AND: ¥ Occurrence A: Encounter,
Performed: Encounter Inpatient ( Length of Stay
<= 120 days )
« AND:
« OR: « Procedure, Performed: Delivery
Procedures starts during « Occurrence A:
Encounter, Performed: Encounter Inpatient
+« OR: X Diagnosis, Active: Normal
Delivery and Other Indications for Care
starts during v Occurrence A: Encounter,
Performed: Encounter Inpatient
« OR: X Diagnosis, Active: Complication
Mainly Related to Pregnancy starts during
+ Occurrence A: Encounter, Performed:
Encounter Inpatient
« OR: X Diagnosis, Active: Complication
Mainly in the Course of Labor and Delivery
starts during v Occurrence A: Encounter,
Performed: Encounter Inpatient
« OR: X Diagnosis, Active: Complication
of the Puerperium starts during v
Occurrence A: Encounter, Performed:
Encounter Inpatient
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